Ch. 6 Unit Review AP Practice Problems (p.459-460)

® 1. The closed interval [a, b] is partitioned into n subintervals

— a ' .
. If u; is any number in

b
each of width Ax =

n
the ith subinterval, what is "llngo Z Ju; Ax?
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(A) 5[b2/3—az/3] (B) 4[17 a*]
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12,1 [* f () dx = 3, find [} FO—X)dx
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'3. The area under the graph of the function fx)= =,
fromx = k to x = 4k, k > 01is

&) ms @) 2740 () 214 (D) 2In@dk)
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4 If [*, f()dx =8 and [} f(x)dx = 6, whatis [°; f(x)dx?
A) -14 (B2 (© 14 D) 16



—-X if —2<x<2

5. Findff?f(I:ldIWhEﬂf{ﬂz {x+3 if2<x<6

(A) 24 (B) 28 (C) 32 (D) 44

6. An object is moving along the x-axis. If its velocity v attime ¢ (in
minutes) is v(t) = t2 — 2t (in feet per minute), what is the total
distance the object travels between ¢ = 0 and t = 4 minutes?

(A) Oft  (B) 13—61“1 (C) 8ft (D) ifﬂ

ph of a function f that is differentiable is shown below.

7. The gra -
If F(x) = f; f(t)dt, which of the following is true?
y
6
A y =f&x)
2
ST
-2
-4
-6

(A) F3) < F'(3 <F'3) (B) F'3)< F"(3) < F(3)
(C) F'3) < F(3) < F'(3) (D) F'(3) < F'(3) <F(3)

8. 1f [ f(3x +1)dx =9, then
A [frwdu=3  ®) [ faydu=9

© [Prwdu=21 © [°f@du=21
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10.

11.

'12. Onatypical day,

fxlﬁ-xd dx =
(A) —le"‘" +C 1
4 (B) —Ee‘ +C

(C) x xt
7 tC D) Zer +C

I:'at every point (x, y) on the graph of a function f, the
slope of thﬂ‘tangcnt line is given by y = 3 — 4x anl:‘l if th
point (2, 3) is on the graph of f, then )

(A) f(x)=—-5x+7 (B) f(x)=-2x2+3x—11
© fx)==2x24+3x (D) fx)=-2x2+3x+5

[l L Vil
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(A) 2:: —3x+4xV2 _In|x| +C

1 3 4
(B) =x3 — 2x2
)3x % +§x3;z In|x| + C

1
C) -x?- 6
() 5% 3x+§x5”*|nlxl+c

1
D) -x?—
(D) Zx I +x2 —lnjx| +C

¢ dA
m releases water at a rate 0 = (hundreq

as shown in the graph. Use a Left
bintervals to approximate the
ousands of gallons) of water

per hour)
th four equal su
hundreds of th

thousand gallons
Riemann sum wi
total amount A (in
released in @ day.
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(A) 1720
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Free Response Questions
- sin x
For the function f(x) = =

(a) Find the derivative of f whenx = 1.
(b) Find the area under the graph of f from Otom.

(c) What is the average value of f over the closed
interval [0, 7]?

Use the graph of the function f shown below to answer the
questions.
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(a)

U:r:e a Right Riemann sum with five subintervals of equal
width to approximate fjl f(x) dx.

. pd
(b) Write f._, f(x) dx as a sum of three integrals using
properties of definite integrals,

(c) Find fjl f(x) dx using geometry,
(d) Find [*

(e)

f(x)dx using technology.

Explain why f_zl fx)dx > fjl f(x) dx



